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a Not that Col A Cole A Col A

Also Cola A and Cola A form a linearly independent set

er in a basis for GA

b We have ColCATA ColAT so

rank ATA rank A rank A 2

c Note that ATA is a symmetric 3 3 matrix with rank 2

Therefore it has two nonzero eigenvalues and one eigenvalue equal to Zen

Moreover ATA is positive sein definite so the nonzero eigenvalues are positive

So the minimum eigenvalue is equal to 0

d Since I Col A the projection yield
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IP 5 increase the power decreases

IP x ̅ increase the power increases
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